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Abstract. Asymptotic analysis of large deviation problem for random evolutions with inde- pendent
increments in the scheme of Poisson approximation is realized. Large deviations for random evolutions
in the scheme of Poisson approximation are defined by exponential generator for jump process with
independent increments.
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����� ε→ 0# ε > 0# ��0 
�+���1

H
εϕ(x) := e−ϕ(x)/εεLεeϕ(x)/ε,

�� �	������� L
ε# ε > 0# 2� 
��
������ �����
���� 	������ xε(t)# t ≥ 0# ε > 0# 
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ξ(t) = ξ0 +
∫ t

0

η(ds;x(s)), t ≥ 0. (1)
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 ������ x(t)� t ≥ 0� �� ����������
� ������
� ����
����� (E, E) �������� ����������


Qϕ(x) = q(x)
∫

E

[ϕ(y)− ϕ(x)]P (x, dy), x ∈ E. (2)
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��� ���������	
 ������ x(t)� t ≥ 0� �����
���� �����	��	
 �� ����������	

������� �
 π(A)� A ∈ E !

"�����	
� ����� Π �������� �� ���������� �� �� ���������#�������� ���������
Q� ���������� � $%&�

Πϕ(x) =
∫

E

π(dx)ϕ(x).

'	��������� �������� ���������(����

QΠ = ΠQ = 0.

"������� R0 
�� � ���	����� )*� +,! -.�

QR0 = R0Q = Π− I.
���������� -!-	 / ���������� ���������(���� $�������� "������& �	� 	���� �� ��
�
��	 ����0�������

Πψ = 0
��������

Qϕ = ψ


�� ��	�	
 ����0����
ψ = R0ϕ,

��	 Πϕ = 0!
���������� ������	 � ���� �1�	
	 ��	�����
	 η(t;x)� t ≥ 0� x ∈ E� ���������
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Γ(x)ϕ(u) =
∫
R

[ϕ(u + v)− ϕ(u)]Γ(dv;x), x ∈ E.
'	������� ��� ���� $-& 2�������	������ ����������
 ���2��
���������� 
���

��������� ������� ξ(t)� x(t)� t ≥ 0 $�	�! )*� +,! %.&

Lϕ(u, x) = Qϕ(·, x) + Γ(x)ϕ(u, ·)
���������� -!%	 3�� ��1���� ����	��	2 � ���	�����
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���
�	��� 	

μt = ϕ(x(t)) − ϕ(x(0)) −
∫ t

0

Lϕ(x(s)) ds, (3)

�� L 5 ���������� �� �	������ 
��������	
 ������ x(t)� t ≥ 0� �� ����������
�
������
� �������� (E, E)� 
�� �� ��� �# ���� �	�������� D(L) ⊆ BE � ��� 
���	��
���������� ����
 �� ���4
	 ��2���	
	 ������4! 6�� BE 5 #���2�� ������� ��
�������
��	2 �#
�1��	2 �����������
 ϕ(x) ∈ E� � ���
��� ‖ϕ‖ := supx∈E |ϕ(x)|!

6����� �� 	�	2 ���2	 ��� #�������� �� �	���	������ ����������
��4 
���	��� ��
��4 2�������	����4 $�	�! )%� +,! -.&�

μ̃t = exp
{
ϕ(x(t)) − ϕ(x(0)) −

∫ t

0

Hϕ(x(s)) ds
}

(4)

� 
���	��� �
!
6�� ����������
�	
 �� ���
�	
 ��������

Hϕ(x) := e−ϕ(x)
Leϕ(x), ϕ(x) ∈ BE .
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μ(t) = x(t) −
∫ t

0

y(s) ds

� ��������	
� �
�� � ��	
�� �
�� �
	�

μ̃(t) = x(t)exp
{
−

∫ t

0

y(s)
x(s)

ds

}
� ��������	�
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Lϕ(x) =
∫
R

eλxa(λ)ϕ(λ) dλ,

�� a(λ) : ��%������ ��
,�		�� ϕ(λ) =
∫
R
eλxϕ(x) dx 

6�
�
��� ������
����� ���∫
R

e−λx
Lϕ(x) dx = a(λ)ϕ(λ).

#�������%
 ∫
R

e−λx
Lϕ(x) dx =

∫
R

e−λxa(λ)ϕ(x) dx,

�� �� �
�
%
�
8 ��%���
e−λxϕ(x) = ϕ̃(x)


���%��%
 ∫
R

e−λx
Leλxϕ̃(x) dx =

∫
R

a(λ)ϕ̃(x) dx.

;���% +��
%�
e−λx

Leλx = a(λ),
�$
 +���� ��	�
���,�-��- �������
��

Hϕ0(x) = a(λ),

�� ϕ0(x) = λx 
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ξδ
ε(t) = ξδ

ε(0) +
∫ t

0

ηδ
ε

(
ds;x

(
s/ε2

))
, t ≥ 0,

ηδ
ε(t) = εηδ

(
t/ε2

)
,

Γδ
ε(x)ϕ(u) = ε−2

∫
R

[ϕ(u + εv)− ϕ(u)]Γδ(dv;x), x ∈ E,
�� ε, δ → 0 ��
! "� ε−1δ → 1#

$# ������� ����	 
��������� �

���	�����

��� ��������� ��	�
����
��# %���	 �������� � ������&�
�
 ��
������
 ηδ(t;x)!
x ∈ E! t ≥ 0 ���������	� ����
 ���������� ����
�
����� 
���� '���
�
���
	 �������� 

aδ(x) =
∫
R

vΓδ(dv;x) = δ[a(x) + θδ
a(x)],

��

cδ(x) =
∫
R

v2Γδ(dv;x) = δ[c(x) + θδ
c(x)],

��

sup
x∈E

|a(x)| ≤ a < +∞, sup
x∈E

|c(x)| ≤ c < +∞.
���� (�	 	��� ������
������) ��� ����� ��
�����
��� ������������	

Γδ
g(x) =

∫
R

g(v)Γδ(dv;x) = δ
[
Γg(x) + θδ

g(x)
]

��	 ���� g ∈ C3(R) * 
���� +��
��)! "� �
������ ���� ��
�# ,-! ./# 01�!
Γg(x) * ����&��� 	��� 

|Γg(x)| ≤ Γg

�
�������� ����&�� ��� g�#
2��� Γ0(dv;x) ������ �� 
���� +��
��)! "� �
������ ���� C3(R) ����3
�����4���	�

Γg(x) =
∫
R

g(v) Γ0(dv;x), g ∈ C3(R).

5����������� ���� �����

 θδ
a! θδ

c ! θδ
g ���������	��� �����

sup
x∈E

|θδ
· (x)| → 0, δ → 0.

���� 6�� ����� ���������4���	

c(x) :=
∫
R

v2Γ0(dv;x),

"� �������� ����������� �
+���)��� �
������� � �
��������)���� 7���3
������! 	

) �
������ �����	����	 �������
 ���


� ����
����#

�� �������	�� 
���	������ �����	������� 

lim
c→∞ sup

x∈E

∫
|v|>c

v2 Γ0(dv;x) = 0.

�� �
������
���� ����������� ∫
R

ep|v| Γδ(dv;x) <∞ ��	 ���� p ∈ R.



������ �������		
 ��
 ������
��� ��
����� � 	������	��� ����
�������

�� �������� �	
��
���

������� ��	� ����������� 	
���
�� �
����� ������
�� ��� ��	������� 
�������

ξδ
ε(t) = ξδ

ε(0) +
∫ t

0

ηδ
ε

(
ds;x

(
s/ε2

))
, t ≥ 0,

��� ��������� �
�

���
�� �������	��
������ ��
��������� 	
��
�� ξ(t)� x(t)� t ≥
0

L
δ
εϕ(u, x) = ε−2Qϕ(·, x) + Γδ

ε(x)ϕ(u, ·), (5)

�


Γδ
ε(x)ϕ(u) = ε−2

∫
R

[ϕ(u + εv)− ϕ(u)]Γδ(dv;x), x ∈ E (6)

������������ 
��	��
������� �
�

���
��

H0ϕ(u) = ãϕ′(u) +
∫
R

[evϕ′(u) − 1− vϕ′(u)] Γ̃0(dv), (7)

ã = Πa(x) =
∫

E

π(dx)a(x), Γ̃0(v) = ΠΓ0(v;x) =
∫

E

π(dx)Γ0(v;x).
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Hε,δ
Γ (x)ϕ(u) = e−ϕ/εεΓδ

ε(x)e
ϕ/ε (8)

��� �����	�
 ����	������
 	

������
���

Hε,δ
Γ (x)ϕ(u) = HΓ(x)ϕ(u) + θε,δ

Γ (x),

�
 supx∈E |θε,δ
Γ (x)| → 0� ε, δ → 0�

HΓ(x)ϕ(u) = a(x)ϕ′(u) +
∫
R

[
evϕ′(u) − 1− vϕ′(u)

]
Γ0(dv;x).

����
����� %�����&��� '()* 
����
���� 
����� ��
������� '+)� ,�-��.

Hε,δ
Γ (x)ϕ(u) = ε−1

∫
R

[
eΔεϕ(u) − 1

]
Γδ(dv;x),

��

Δεϕ(u) := ε−1[ϕ(u + εv)− ϕ(u)].
%�����&��� 
���� ��� ��
������� 
�����
�� ��
��.

Hε,δ
Γ (x)ϕ(u) = ε−1

∫
R

[
eΔεϕ(u) − 1−Δεϕ(u)− 1

2
(Δεϕ(u))2

]
Γδ(dv;x)

+ ε−1
∫
R

[
Δεϕ(u) +

1
2
(Δεϕ(u))2

]
Γδ(dv;x).

/���� ������* 0� !�
��	� ψε
u(v) = eΔεϕ(u) − 1 −Δεϕ(u) − 1

2 (Δεϕ(u))2 
��� ���
����� C3(R)� $	��
�*

ψε
u(v)/v

2 → 0, v → 0.
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 ���
��� ε �� ����� ������
����
��
�	�� ϕ(u)� ������ ����� ������
���� ��
�	�� ψε

u(v) � ���
����
� �� u �� ����
��� �� �� ������
���� ��!��
�� ϕ′(u) �
"���� #�
��� �����$

Hε,δ
Γ (x)ϕ(u) = ε−1δ

∫
R

[
eΔεϕ(u) − 1−Δεϕ(u)− 1

2
(Δεϕ(u))2

]
Γ0(dv;x)

+ ε−1
∫
R

[
Δεϕ(u)− vϕ′(u)− εv

2

2
ϕ′′(u)

]
Γδ(dv;x)

+ ε−1δa(x)ϕ′(u) + δc(x)ϕ′′(u)

+ ε−1
∫
R

[
1
2
(Δεϕ(u))2 − v2

2
(ϕ′(u))2

]
Γδ(dv;x) + ε−1δ

1
2
c(x)(ϕ′(u))2.

%�������� #� ������� "�&���� �� ����'��
�	�& ϕ(u) ∈ C3(R)� �� ����� ���
���������$

Hε,δ
Γ (x)ϕ(u) = ε−1δ

∫
R

[
evϕ′(u) − 1− vϕ′(u)− v2

2
(ϕ′(u))2

]
Γ0(dv;x)

+ ε−1δ
∫
R

(
evϕ′(u)ε

v2

2
ϕ′′(ũ)− εv

2

2
ϕ′′(ũ)− ε2 v

4

8
(ϕ′′(ũ))2

)
Γ0(dv;x)

+ ε−1δ
∫
R

ε2
v3

3!
ϕ′′′(ũ) Γ0(dv;x) + ε−1δa(x)ϕ′(u) + δc(x)ϕ′′(u)

+ ε−1δ
∫
R

ε2
v4

4
(ϕ′′(ũ))2 Γ0(dv;x) + ε−1δ

1
2
c(x)(ϕ′(u))2.

(��!��� #� ��� �� ���
�#
� ����� ε−1δ → 1� ������#
� �����$

Hε,δ
Γ (x)ϕ(u) = HΓ(x)ϕ(u) + θε,δ

Γ (x),

�� supx∈E |θε,δ
Γ (x)| → 0� ε, δ → 0�

)��� ������
��
�	
���

� ��	����� *��
�#
�& ����!�� � �����
�
	�&
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�&
��� ��
�'

������ ��
������� ���� 	�� �����������
 
� �����
�! ����'��
�	�
!

ϕδ
ε(u, x) = ϕ(u) + ε ln[1 + δϕ1(u, x)].

"���� #�
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H
δ
εϕ

ε = e−ϕε/εεLδ
εe

ϕε/ε = e−ϕ/ε[1 + δϕ1]−1εLδ
εe

ϕ/ε[1 + δϕ1].

+�#����


 ���������#
�� ������
�� ����

���� �����
�
	�&
��� ��
������� ���

�����
�& ����������

���� ���� ��� ����� ��	�
���	
�� 
������������

H
δ
εϕ

ε = Qϕ1 +Hε,δ
Γ (x)ϕ(u) + θε,δ(x),

�� supx∈E |θε,δ(x)| → 0� ε, δ → 0�

���������� (��!��� #� ,-. �����$

H
δ
εϕ

ε = e−ϕ/ε

[
1− δϕ1 + δ2ϕ21

1 + δϕ1

] {
ε−1Q+ εΓδ

ε(x)
}
eϕ/ε[1 + δϕ1]

= e−ϕ/ε

[
1− δϕ1 + δ2ϕ21

1 + δϕ1

]{
ε−1δeϕ/εQϕ1 + εΓδ

ε(x)e
ϕ/ε + εδΓδ

ε(x)e
ϕ/εϕ1

}
= Qϕ1 +Hε,δ

Γ (x)ϕ(u) + θε,δ(x),
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θε,δ(x) = δ

[
ε

1 + δϕ1
e−ϕ/εΓδ(x)eϕ/εϕ1 − ε−1δϕ1

1 + δϕ1
Qϕ1 − δϕ1

1 + δϕ1
e−ϕ/εΓδ(x)eϕ/ε

]
.
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H
ε,δϕε = Qϕ1 +HΓ(x)ϕ(u) + hε,δ(x),

�� hε,δ(x) = θε,δ(x) + θε,δ
Γ (x)	

����� �������������� ��������� ������ ������������ � ������ ��� �������!� �!
������� ��������� Q "���	 #$� %&	 �'(	 ) ����� ������������ �����*

Qϕ1 +HΓ(x)ϕ(u) = H0ϕ(u),

��
H0ϕ(u) = ΠQΠϕ1 +ΠHΓ(x)Πϕ(u).

+�,� ��������� ��������� "-(*

H0ϕ(u) = ãϕ′(u) +
∫
R

[
evϕ′(u) − 1− vϕ′(u)

]
Γ̃0(dv).

)���.����/ ���� hε,δ(x) ��,�� � ������� � ������ �������� ��������������
��������� �������� 0������� "���	 )����,���� �	�� �����1��.� #$'(

ϕ1(u, x) = R0H̃(x)ϕ(u), H̃(x) := HΓ(x) −H0.
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